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A 17 H Ad— 2R Ba1—2X Ca—X D1—2X = (A) FEUMT Fri By | BHERES K& (M)
4H 26 (26)| 1,071 7O 1,157 (916) q00 (752) 746  (614)] 3,874 (3,153) 263 (252) 39 (34) 0 W] 7 (12)] 356,500 (285,500)
5H 26 (26) 924 (881) 993 (817) 808 (753) 594  (598)( 3,319 (3,049) 210 (245) 23 (62) I (0)] 23 (23)| 306,300 (271,900)
6 A 26  (26)| 1,134 (1,390)| 1,226 (1,190) 902  (1,062) 724 (787)| 3,986  (4,429) 288 (328) 53 (42) I (0)] 24 (47| 362,100 (401,200)
7H 27 (27)| 1,251  (1,368)| 1,218  (1,248) 958  (1,098) 677  (866)| 4,104  (4,580) 266 (316) 71 (63) o (| 20 (40)[ 374,700 (416,100)
8 A 26 (26) 998  (1,229)| 1,064 (1,121) 860 (928) 654  (815)| 3,576 (4,093) 218  (304) 83 (48) 0 (4)| 20 (23)| 325,500 (371,800)
9R 26 (26) a6l (1,294)] 1,016 (1,170) 899  (1,076) 712  (762)| 3,588 (4,302) 211 (335) 33 (52) o (| 31 (33)| 331,300 (388,200)
|0H 26 (27)| 1,203 (1,371)] 1,263  (1,299) 925  (1,069) 792  (816)| 4,183  (4,555) 253  (346) 35 (44) 0 (| 37 (28)| 385,800 (413,700)
' A 26  (25)| 1,136 (I, 1,227  (1,130) 933 (905) 789  (788)| 4,085 (3,934) 275  (321) 100 (56) 0 (3)| 26 (46)| 368,400 (351,100)
12 A 24 (24)| 1,146 (1,174)] 1,258  (1,160)[ 1,011 (924) 762  (761)| 4,177  (4,019) 267 (285) 83 (99) I (0)] 5l (49)| 377,600 (358,600)
I A 24 (24) 912 (845)| 1,027 (885) 871 (712) 65| (610)| 3,461 (3,052) 226 (187) 67 (27) 0 (0)| 36 (14)[ 313,200 (282,400)
2A 24  (24) 957  (1,009) qq9 | (959) 843 (882) 665  (619)| 3,456 (3,469) 241  (230) 60 (40) 0 (0)] 3I (22)| 312,400 (317,700)
3R 27 (27)| 1,283 (1,206)[ 1,317 (1,256) 1,125 (987) 804  (795)| 4,529  (4,244) 288 (305) 127  (110) 0 (0)| 5l (51)| 406,300 (377,800)
B 308 (308)| 12,976 (13,749)| 13,757 (13,151)] 11,035 (I1,148)| 8,570 (8,831)| 46,338 (46,879)| 3,006 (3,454) 774 (677) 3 (14)| 357 (388)] 4,220,100 (4,236,000)
AR | (308) [ (13,749)] L (13,15D)] L (1,148 | (883D)] | (46,879)] (3,454)] [ (677) [(14) | (388)] [ (4,236,000)
(1) | BEHFER (BIENRVLF) (3) #EFEFAHEK
B Ad—X BI—X Ca1—RX D1—X BTk (A) R (A)
4B 41.2 (33.5)] 445 (35.2)] 34.6 (28.9)] 28.7 (23.6)] 149.0 (121.3) 4H 0]
58| 35.5 (33.9)| 38.2 (31.4)[  3I.1 (29.0)[ 22.8 (23.0)| 127.7 (117.3) 5HA 0]
6R| 43.6 (53.5)] 47.2 (45.8)[ 34.7 (40.8)[ 27.8 (30.3) 153.3 (170.3) 6R 0]
7R| 46.3 (50.7)| 45.1 (46.2)| 35.5 (40.7)[ 25.1 (32.1)| 152.0 (169.6) 7H 0]
8RA| 38.4 (47.3)] 4049 (43.1)[ 33.1 (35.7)] 25.2 (31.3)[ 137.5 (157.4) (2% LLEA) 8 A 0]
9RA| 37.0 (49.8)| 39.I (45.0)| 34.6 4.4 27.4 (29.3)| 138.0 (165.5) 4R SHRIA I TOFRAEKR 9R 0]
I0B| 46.3 (50.8)| 48.6 48.1)] 35.6 (39.6)| 30.5 (30.2)| 160.9 (168.7) | R3FE | R2FE |ATE Bt meme I0R -
| 1 B| 43.7 (44.4)] 47.2 (45.2)| 35.9 (36.2)[ 30.3 (31.5)[ 157.1  (157.4) ETEK Il A -
|28 | 47.8 (48.9)] 52.4 (48.3)[ 42.1 (38.5)[ 31.8 (31.7) 174.0 (167.5) B% | 308H[ 308R| *0H|100.0% 12A -
| A| 38.0 (35.2)] 42.8 (36.9)| 36.3 (29.7)[ 27.1 (25.4)| 144.2  (127.2) FAE | B -
2A| 39.9 (42.0)| 41.3 (40.0)[ 35.1 (36.8)[ 27.7 (25.8)| 144.0 (144.5) Aa—2[12,976 A[13,749 A -773 A]94.4% 2R -
3A| 47.5 (44.7)| 48.8 (46.5) 4l1.7 (36.6)| 29.8 (29.4)| 167.7 (157.2) Ba—2[13,757A[13,151 A| +606A|104.6% 3R -
2| 42,1 (44.6)] 447 (42.7)| 35.8 (36.2)| 27.8 (28.7) 150.4 (152.2) Ca—XZ|11,035A[11,148A] -1 13A[99.0% &3t 0
Da—2[8,570A(8,831 A| -261 A|97.0%
(2) MEH Y FEH (BENRUVLH) it [46,338A[46,879A] -541A[98.8%|« [A3ER]
EHIRA RARAERFELL-638A
B Ad—2X Bad—X Ca—2X Dd—2X BT (A) &zt |4,220,|00P3|4,236,000P3 -15,900M|99.6% FriufAHERMEEL : +97A
48 8.2 (5.6)| II.1 (8.8) 8.7 (7.2) 7.2 (5.9) 8.8 (6.7) | B RELK
5A 7.1 (5.6) 9.5 (7.9) 7.8 (7.2) 5.7 (5.8) 7.5 (6.5) Ad—2| 42.1A| 44.6 A -2.5A[94.4%
6A 8.7 8.9 11.8 (11.4) 8.7 (10.2) 7.0 (7.6) 9.0 (9.5) Ba—2| 44.7A| 42.7TA| +2.0A[104.6%
7R 9.3  (8.4)] 11.3 (11.6) 8.9 (10.2) 6.3 (8.0) 8.9 (9.4) Ca—2z| 35.8A[ 36.2A| -0.4A[99.0%
8AH 7.7 (7.9)| 10.2 (10.8) 8.3 (8.9) 6.3 (7.8) 8.1 (8.7) Da—2| 27.8A| 28.7A| -0.8A[97.0%
9H 7.4  (8.3) 9.8 (11.3) 8.6 (10.3) 6.8 (7.3) 8.1 (9.2) 2tk |150.4A]152.2A] -1.8A]98.8%
|10 A 9.3 (10.2)] 12.1 (12.0) 8.9 (9.9) 7.6 (7.6) 9.5 (9.9) B Y FIFER
|1 B 8.7 8.9 11.8 (11.3) 9.0 (q.1) 7.6 (7.9) q.2 (9.3) Ad—2z| 8.4A[ 8.IA| +0.3A]104.1%
128 9.6  (9.8)] 13.1 (12.1)] 10.5 (9.6) 7.9 (7.9 10.2 (9.9) Ba—2| I1.2A| 10.7A| +0.5A[104.6%
| B 7.6  (7.0) 10.7 (9.2) q.l (7.4) 6.8 (6.4) 8.5 (7.5) Ca—2| 9.0A| 9.0A| -0.1A[99.0%
2R 8.0 (8.4) 10.3 (10.0) 8.8 (9.2) 6.9 (6.4) 8.5 (8.5) Da—2| 7.0A| 7.2A| -0.2A[97.0%
3R 9.5  (8.9)] 12.2 (11.6)[ 10.4 (9.1) 7.4 (7.4) 9.9 (9.2) EX0 8.9A| 8.6A| +0.2A]102.4%
el 8.4 (8.1)] 1.2 (10.7) q.0 (9.0) 7.0 (7.2) 8.9 (8.6)
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